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1200000000:

(z,y,2) € R* = (z,9,2) € R’
121000 700:

0000 4() = 0000 4(s)

m00B

2130000000900:

000 {¢,} 0000 F(z,y,t)=000000000000000

=000 {C,} 000000000000 F(r,y,t)=000000000000
2130000000 700:

00000000=00000000000
2130000000600:

00000000 2z, y0¢0000000000

= 0000gz,y0 ¢t0000000000F,#0000000000000
214000 200:

0t¢0 C,00000000000=0¢000000000000000000
21400006-800:

0OooD t00000
(z—y)? =2 +y)+1=0

0000000000 B-110000000000D0OO0O0O0OOOO0

0000 ¢t00000 (z—y)?—-2@+y) +1=00000000000
= B-1.10000000000000000000000 F(z,y,t) =x 4+t
0000000000000000000000000000
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2780000000 1100:
0O=y-v+7v7" = 0=9"9+v7



